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 1. ก��;�����8	
	
9�ก����.ก��7��6�,:��7;<::�������
	 (7��	
9���
-) ก��6�,:��
7;<:����4� (	
9�7��6�-,) ����  �.��	,�ก��6�,:��7;<::�������
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 2. ก��;������������=4ก�����;����-�.�-5�
6"85��7ก�-",	
6�ก��	
�:��.�C  ��	,�
����-
����C;��=�8��ก5��7ก�-",	
	
�:��.�C-������� 
 1. �+A�!B-
���-���	 (Barrel Temp) 
 2. �+A�!B-
7-,�
-�C (Mold Temp) 
 3. :	�-��<	6�ก����� (Injection Speed) 
 4. �.
. V-P 6�ก����� (Stroke) 
 5. �	��6�ก����� (Injection Time) 
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����������  !"����#$���กก�����!���%  !"����&'�&�ก��(�$���) 

�+A�!B-
���-���	 325  oC 325  oC 
�+A�!B-
7-,�
-�C 85 oC 85 oC 
:	�-��<	6�ก����� 10, 20, 10, 100, 20 20, 30, 15, 90, 20 
�.
. V-P 6�ก����� (Stroke) 0, 3.2, 4.8, 6.4, 8 3.2,4,5,7,8 
�	��6�ก����� 0.1025 0.12 
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